Fable 3 Association of abuse and neglect indices with sociodemographic characteristics of schoolchildren using adjusted values,

Albania, 2022

Variable

Female
OF (05%CI)

Sociodemographic characteristics

Urban areas
OFR (05%CI)

Father
unemployed
OR (g5 CI)

Mother
unemployed
OR (953 CI)

Less affluent
OR (05%CT)

Lifetime physical abuse

Last year physical abuse

Lifetime emotional abuse

Last year emotional abuse

Lifetime sexual abuse

Last year sexual abuse

Lifetime emotional neglect

Last year emotional neglect
Lifetime witness domestic violence

Last year witnessing of family
violence

L1 {0g1-1.37)
1.06 (0. TE-1.46)
183 (L39-2.40)
187({133-263)

056{0.33-0.92)
027 (0.14-0.51)
3.37(2.48-4.57)
2.60 (1.87-3.86)
LOg (0.74-160)
0.62 (0.37-1L05)

L.36 (Log-1.70)
L16 (0.82-1.63)

L6 (L1g-218)
1.55 (Lob=-2 26)
0.89 (052-152)
108 (0.58-2 o)
110 (0.89-1L60)
0.98 (0.6g-1.38)
139 (0.90-2.14)
110 (063-104)

Loy (0. F7-1.51)
0.31(0.47-1.30)
120 (0.78-184)
1.33 (0.Bo-219)
L1 (0.74-3.54)
LE7 (0.71-3.90)
0.97 (062-152)
138 (0.85-2 25)

191 (113-323)
2.46 (129~ 4.68)

0.88 (o71-110)
121 (0 88-168)
070 (0.59-1.05)
0.08 (0.69-138)
L28 [o.pb-2.17)
165 (0.93-2.92)
0.76 (0.57-1.02)
0.95 (0.68-1 35}
L24 [0.84-184)
166 (098 -2.81)

116 (0.95-1.43)
1.31{0.95-180)
.50 (068 -1.17)
103 (0.74-1.43)
0.46 (026-0.8a)
0.54 (0-29-0.99)
113 (0.87-149)
1 (o8o-153)
L16 {079 -1.71)
1.45 (0.85-25n)

" Results from the Hesmer and Lermeshour tests - for [Eferime phystcal abuse: chi-square (i) = 6,50, degrees of freedom {df)=7, P = 0.482; for losr pear physical abuse: p'=6.13, df=7, F = 0.524; for

lifetinme emontonal abuse: P=6.43, df=6, P = 0,577, for lest year emottonal abuse: p'=7.03, df=8, P = 0.522; for [[feri me sexusl abuse y'=2.12 df=7, F = 0.952; for lasr wear sexual abuse: 3°=p0 58,
df=8_ P = o.z26; for liferime entational reglect: y'=2.00, df=8, P = 0.08); for kest year emoriomal neglece: 3*=4 00, df=7, P = 0.672; for [Efertime wimessing of family siolence: =5 50, df=6, P= o481,
Jor base pear wimessing of farrily wiolence: y'=10.55, df=8, F= 0229



